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Question 1 1 Jlsaad)
What is the quotient? fAaudl) g3l La
420 -6 = 420 +-6 =
A V4
B 70
Cc 700
D 7,000
Question 2 2 Jguad)

A class collected 343 cans for
recycling. They can place only
7 cans in each bag. About how

many bags will the class need for

g Saley ik 343 ciall Ak [ RES

a8 B b e 7 guiag pgiSa
flal) 03¢t ¢ galinsu Ll duda oS

their cans?
A 30
B 40
c 50
D 60
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Question 3 3 )
45 apples are shared equally into 5 | . 5 ¢ Gyl 43l 45 AL o
students. Sl JS lgule aaw daldli og

How many apples will each student

get?

A 6

Question 4 4 s

What is the quotient? Chanddll & L

Use the partial quotients to solve. cJall Aufial) dacdll il ki
3,690 -3 = — 3,690 3 —

A 1,230

B 1,200

Cc 123

D 120

ElIE
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Question 5

5 Jgead)

What is the quotient and the

remainder?

Use the partial quotients to solve.

ol Lusjal) Lauidl) g3l padil

¢ By Lacidl) 3L La

117 +4 = R 117 + 4 = R
A 29
B 29R1
Cc 29 R2
D 29R3
Question 6 6 Joaad)

Each row can have 8 chairs.
How many rows are needed for all

the chairs?

There are 127 chairs to put in rows.

gt A g L 127 s
S 8 Cua S (A g
bl guan gt AU Cigiial) 2 oS

A 10
B 12
C 15
D 16
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Question 7

7 Jgad)

Afaf has 214 stickers in one book
and 106 stickers in another book.
There are 8 stickers on each page
of the books. How many pages has
she filled in the books?

sy IS b lhale 214 Gilis (54

AT QS b liak 106
Cladua (e dada JS o clivak 8 g
L))

filiualally lgidla A GSY Clada 23 S

A 40
B 50
C 60
D 70
Question 8 8 I el

Use the representation to find

an equivalent fraction.

.“’éu‘ Jusn Jh_a\! (Mf il ?-\a.au" )

4
& |5
3
B |—
6
C4
6
5
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Question 9 9 gl
Which fraction is equivalent to eaey) s o Aliaall Al (318 s gl
the point on the number line?

" |
0 1 [ ]
(3
4
Bl |’
8
e B
10
o |
16
Question 10 10 JVigadd)
5
Which fraction is less than §? ?g oa dg; < oy ‘_53
3
A -
2
4
B i
5
9
G L#,
10
4
D i
12

EE
4
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Question

11

11

el

Which comparison is true?

fAasaial) 43jlaall La

A

sle

\%

ol w vl w
-
ola‘

(@)
BN
N
le

\Y%
alN | o

S

Question

12

12

Jgad)

3 fractions.

5
Decompose -9- into a sum of

A

+
O =
+

+
-

-+
“+

+
OlW [ OIN | OIN | O] =

O N O = O = O =

4
ol N O N O =
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Question 13 13 INjuad)
What is the sum? g sanall La
Use a fraction model to solve the CAdaleal) Jad pusl) 7 3gad padiul
equation.
‘ S £ 2 o - B .l;'.
7 12 12 125 I:l
o | S
12
B |7
12
- PES
12
b | 10
12
Question 14 14 Joead)
What is the missing value? $54980a)) dasdl) La
1 3 4 -
s el
A 1
{
B 3
C 7
D 14

Ell E
4
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3 L.
Her sister ran T mile.

How much farther did Layla’s sister

Question 15 15 gt
What is the difference? gl L
- B |l 9 2ipics]
SV STONEA T
N |
24
Bl |7
12
om |11
24
ol |11
12
Question 16 16 o)
Layla ran = mile e : Gl
’ 10 S Tg ol s,

ey |

Tl A Lgiag) Al Ablual) A3 a

run?

A RS
20

B |2
10
1k

c | | 1L
20

D 11
10

10
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Question 17 17 JIgual)
What mixed number is equivalent to d (A1l el a2l La
Syl 2 3 5.1 .2 ¢3
B R R bt —t=
5. 5%c"E s UETE
1
A 1=
5
3
B =i
1 5
1
C i
. 5
3
D 2
2 5
Question 18 18 Sl
What is the sum? g sanall Lo
™3 [l 4 =
— 2= = 812 ==
RO e i 2oy Il
1
A Mt
> 6
B 6 -
6
Cc 5 =
6
D 6 =
6
E"‘E]I
11 DpeN
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=T E
i
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Question 19 19 SNl
Use the fraction model to solve dad gusll zagai padiul
3 3 1 4 3 3 1 4
ST $ 5g w45
|1
5
S
5
4
Cc =
- 5
1
D -
. 5
Question 20 20 Sl
What is the difference? @l b
11 4 | | 11 4 [ |
TR TR = =
12 12 |:| 12 12 |:|
7
A ks
2 24
7
B e
2 12
15
C ket
6 24
3
D —
Z 12

12
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Question 21

21 Jpwd

Adnan had some lemonade in

a pitcher. He drank 1—39- cups of the
lemonade. He has 4%cups of
lemonade left. How many cups of

lemonade were in the pitcher?

B b el suas G pam Ol g
Ogall) yuae 4 s 1-2— s

Gsadl) juas o—‘ebs“*%“-“’efa*
S B Ol Osadl) Juae a isS pS

2

A S

2 9

4

B =

2 9

2

C Ly

2 9

4

D 53

Question 22 22 I iguadl
What is the missing factor? fagdiall Jalad) La
2 22 52
3 3 3 3
+—+— -ttt
0 1 2 3 =
278
(3=

A 3
B 4
C 5
D 8

T
4
]
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Question 23 23 g}
1 What is the product? foupall il L
| >E®
1 3 X _2_ — g
5
| il
| A =
‘ 5
i
| Bl | >
K 5
1
6
| C Bz
] 5
i B |2
4 3
J :
] Question 24 24 JNigaad)
( What is the product? Seapall 3l L
|
" 3 e 3
2x1==[ = S ik g o
| 20 %] T =
| 5
A ot
2 10
6
| B —
‘ 2 10
5
C Bty
.y 10
{
6
D Ny
3 10
IEI""'IE|
D) 14
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Question 25

25

el

Khawla has 3 brothers and each
drinks 2 % cups of milk each day.
How many cups of milk do

Khawla’s brothers drink each day?

2~ Gl pgia 3ly 0S5 B3] 3 Ao (53
cag JS quladl (e g8
Tass IS Algd B Gy qulall (o S pS

A 4%
B 5%
| [o2
o | |72

Al ezl

15

1

4

< [x]
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Question 25

25

Jliaad)

Khawla has 3 brothers and each
drinks z% cups of milk each day.
How many cups of milk do

Khawla’s brothers drink each day?

2%9)@@6-’“-\31’&53 bsa) 3 Alsd (s

Tags JS Algd B cupdu qulall (e s S

.(xds‘-.-':‘u‘ Oa s

(I
o | |52
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